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GUE & — Y97 §&] 1 8 20 FElaeheqid JHR & Y97 & | Jcde J97 1 3% #1 & |

GUE & — 97 G721 @ 24 317 TG-FHIT JHR & 97 & | J9% J97 2 371 &1
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General Instructions :

Read the following instructions carefully and follow them :

(1)
(iv)

(iii)

(iv)

(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 37 questions. All questions are compulsory.

Question paper is divided into six sections — Section A, B, C, D, E
and F.

Section A — Questions no. 1 to 20 are Multiple Choice type questions. Each
question carries 1 mark.

Section B - Questions no. 21 to 24 are Very Short Answer type questions.
Each question carries 2 marks. Answer to these questions should not exceed
40 words.

Section C — Questions no. 25 to 29 are Short Answer type questions. Each
question carries 3 marks. Answer to these questions should not exceed
60 words.

Section D — Questions no. 30 to 33 are Long Answer (LA) type questions. Each
question carries 5 marks. Answer to these questions should not exceed
120 words.

Section E - Questions no. 34 to 36 are Case-based/Source-based questions
with three sub-questions. Each question carries 4 marks.

Section F — Question no. 37 is Map skill-based question with two parts —
37(a) from History (2 marks) and 37(b) from Geography (3 marks). This
question carries total 5 marks.

In addition to this, NOTE that a separate question has been provided for
Visually Impaired candidates in lieu of questions having visual inputs,
map etc. Such questions are to be attempted by Visually Impaired candidates
only.

SECTION A
(Multiple Choice Questions) (20x1=20)
Who among the following hosted the ‘Vienna Congress’ in 1815 ? 1

(A)  Chancellor Duke Metternich
(B) Ernst Renan

(C) William I

(D)  Otto von Bismarck
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2. frafafeq 4 ¥ ®H-a1 o6 gdff 9Ra ® 9= qa1 ©H A (foes &) 6
fafay smarett & o feemsti # e ?

A) Teg wH
(B) 39TS 98
(C) diged
(D) 9 gd

3. fTrfafga weTisti & Fahits A 1 afedm Hifve R a8 fawed &1
T HITT |

I. gas U Rgarwa afufa =1 a1

II. ST a1 gcamehs

[II. SRE Icamig
IV. 3TEgINT 3TEld <hl ST99 ol
f&rereu

(A) LILIIL IV
B) ILIIV,III
(©) LIIL IV, III
(D) IIL IV, 1L I

4. &% TIF &1 g & 7T 98! foshed 1 ==A i |

196 T & ANY H, HY Tlgde! IER H G Hl |
‘SR T T AT T |

(A)  ufedr T

(B) wigel el

(C) e firg

(D) hATIETRHT Cat
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2. Which one of the following religions emerged from eastern India and

spread in several directions through intersecting points on the °‘silk

routes’ ?
(A) Hinduism
(B)  Christianity
(C) Buddhism
(D) Jainism
3. Arrange the following events in chronological order and choose the

correct option.

I. Formation of Khilafat Committee in Bombay
II. Jallianwala Bagh Massacre

III. Bardoli Satyagraha

IV. Withdrawal of Non-Cooperation Movement
Options:

A LILIIL IV

(B) ILI,IV,III

©) LI IV,III

(b)y IIL IV,II I

4, Choose the correct option to fill in the blank.

In the beginning of the 19t century, a girl married in a very

orthodox household wrote an autobiography called ‘Amar Jiban’.

(A)
(B)
()
(D)

32/5/1-15

Pandita Ramabai

Rashsundari Devi
Tarabai Shinde
Kailashbashini Debi
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5. ¥ I A &9 119 hifve 3 98t faemeq o1 =—A hifsu |

&7y I &7y IT
(T 3E0T) (75%)
1. ST a. WY g
ii. m wiee b. 3TEH
i, HoreH c. IWES
iv. FigaTe d. ufvam s
forerea :

(A) i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a

(D) i-b, ii-c, iii-d, iv-a

6. ‘aim fgu fo=mE yomelt fafafea § @ fovm o9 o y=ifera 8 2

(A) dfHeHTg (B) ufgem sme
(C) Tu (D) fifesm
7. Tr=fafigd 9 @ S99 YRG %1 999 991 die9Ee 3deH T5T 8 2
(A) HaN™E (B) #NES
(C)  TSHId (D) anfeem

8. TR FY ITIIfE M & | 91 FHuAl Hi ufgu AR T fahed w1 ==H
T |
FYT] : T B SN AhdIAD TILATS o foTq 3ieh B |
Fo7 11 : 399 fafa gt Tqgl & 9 ThUd i GWEAT Hi & H |
TErdT fierd 7 |

forerea :

(A) HF 1G98 g, Afhd II T7d 2 |

(B) ¥ T4 &, Wik 11 T&l 8 |

(C) YA 19 I QHI Fal & 311 I, T 1 H&l e ¢ |

(D) I 1d II gHI |8l & itk 11, I 3hi Hal = 787 @ |
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5. Match Column I with Column II and choose the correct option. 1

Column I Column II
(National Park) (State)

i. Kaziranga a. Madhya Pradesh

ii.  Jim Corbett b. Assam

iii.  Sunderbans c. Uttarakhand

iv.  Bandhavgarh d. West Bengal

Options:

(A) i-a, ii-b, iii-c, iv-d
(B) i-d, ii-c, iii-b, iv-a
(C) i-c, ii-b, iii-d, iv-a

(D) i-b, ii-c, iii-d, iv-a

6. In which one of the following states is ‘bamboo drip irrigation system’
prevalent ? 1
(A) Tamil Nadu (B) West Bengal
(C) Meghalaya (D) Odisha

7. Which one of the following is the highest ‘bauxite’ producing state of
India ? 1
(A) Maharashtra (B) Jharkhand
(C)  Gujarat (D) Odisha

8. Two statements, I and II are given below. Read both the statements and
choose the correct option. 1
Statement I : Division of power is good for democratic systems.

Statement II : It helps to reduce the possibility of conflict between
social groups.

Options :

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.
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9. 9RA ¥ fourh ARl % dear ¥ qalyd q9d UG foehed &1 =99 T |

(A)
(B)
()
(D)

YR qiaerT 7 fagar

favar & g

o = — i g ais

T A - gfowm i
EEECIRCl - o9 9 "R
aehl w faw - S dived 9 SR

10. W HogW § 9y-Fuga 8 seiya SEfafed seas o d9iey 3R |8l

feheg &1 == FIfvT |

L.
II.

III.

AT TsT 4 Tl oft g8 o1 Torehly g9 o7fieer gl fomam 3 |

gfga gt amient i frEt ff 99 &1 9Ta9 3 IR ™R wE
TS < & |

giag™ od & YR W fort IH a1t Tordt T o Hewa sl dunes
YT T 2 |

IV. I diftieh TgEI § 0HdT HTad & & T smae &l gifies amal
T g < 1 MRHR a1 B |

forerea :

(A) wHhada L1191 2 |

(B) had [ IIdIVHS B |

(C) whaa L II9 IVES 2 |

(D) e IL III & IVER & |

11. 9Rd o TG AN + ToHIde gall o GuR o o eafafgd & @ sF-a

THaH IS ?
(A) TA-deA Sl Ushd o foru Gfaa gsnya fomam |
(B) 3EIeari skl 9Y-UF o g TR HIHAT h1 ST AT g1 |

()
(D)
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9. Choose the most appropriate option regarding the division of legislative
rights in India. 1
Subject list in Subjects
Indian Constitution
(A) Union List — Defence and Commerce
(B) State List — Police and Agriculture
(C) Concurrent List — Forest and Communication
(D) Residuary Subjects — Computer Software and Trade
10. Read the following provisions regarding Secularism in the Indian
Constitution and choose the correct option. 1
I. The Indian State has not adopted any religion as its official
religion.
I1. The Constitution gives freedom to all the citizens to practice and
propagate any religion.
III. The Constitution declares any kind of discrimination done on the
basis of religion to be legal.
IV. It gives the government the right to intervene in religious matters
for ensuring equality within religious communities.
Options:
(A)  Only I, IT and III are correct.
(B) Onlyl, Il and IV are correct.
(C)  Onlyl, III and IV are correct.
(D)  Only II, IIT and IV are correct.
11. Which one of the following steps has been taken by the Election
Commission of India to reform political parties ? 1

(A)
(B)

()
(D)

32/5/1-15

Amended the Constitution to prevent defection.

Candidates will have to give the details of criminal cases on
affidavit.

Candidates will have to give details of their property on affidavit.

It has been made mandatory for all parties to conduct
organizational elections and file income tax returns.
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12. = @ %ua fau mu g | I rfirepud (A) 3R RO (R) @ | 2F1 ol i dfeu
3R 91 foeheg =1 == hIfSe |
B (A) : WRA H TGEATT SHEAT hl HIART 2 |

FRU(R) : I8 9Rd hl 9 gHToeh 3R Wiiferes foaswaisti sl g8e 9 |
Tq B |

forerea :

(A (A) 3 (R) aHI E&1 & 3 (R), (A) H F&! AT 2 |

(B) (A) 3R (R) gH1 T& 7, AR (R), (A) T T =amen 757 2 |
(C) (A) GEl g, Ak (R) TeTa ¢ |

(D) (A) T &, dfeT (R) 981 2 |

13. YRA % AEAYM o JIER FHHfAIRad ¥ & HH-1 Toh TG W 8 2

(A)  Aegd
(B)  TedTelt
(C) T
(D) TSI

14, = T % 19 11 feC T g | A1 YAl i 9fgu AR T8 Tashed 1 ==H

I |

FI7]: WAfgand 39 fafid =IaqmE § Eishd &9 § IEH ¢ Wl 8 TR S,
?ﬁm,aﬁa,ﬁwam%wﬁmﬁﬁwﬁ{ﬁwﬁﬁmlﬁ
|

FYTII : s faumm &t ToHifae  Afveate o ToHifas Meed =
HTeSI-eh Stta H HfgeAteTl shl fHepT hl IGH H F&TIdT ol 3 |

farepeu .

(A) HIYF 19 7, <ferd 11 7T 2 |

(B) YA I 7/@id ®, <ifehd I1 &11 & |

(C) % I 9 II SHI €&l & 3 11, I sh! &t =11 2 |

(D) YA 19 11 gFT 92l &, AR I, I 1 Tt =men 77 2 |
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12. Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option. 1
Assertion (A) : Multi-party system has been adopted in India.
Reason (R) : It is capable of accommodating all the social and
geographical differences in India.
Options:
(A) Both (A) and (R) are true and (R) is the correct explanation of (A).
(B) Both (A) and (R) are true, but (R) is not the correct explanation
of (A).
(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.
13. Which one of the following is a scheduled language as per the
Constitution of India ? 1
(A)  Bhojpuri
(B) Garhwali
(C) Nepali
(D) Rajasthani
14. Two statements, I and II are given below. Read both the statements and
choose the correct option. 1

Statement I : Women are now actively contributing to various

professions including roles as doctors, engineers, lawyers,
managers and university teachers.

Statement II : Political expression of gender division and political

mobilization helped to improve women’s role in public life.

Options:

(A) Statement I is true, but II is false.

(B) Statement I is false, but II is true.

(C) Statements I and II are true and II is the correct explanation of I.

(D) Statements I and II are true, but II is not the correct explanation of I.
32/5/1-15 Page 11 of 27 P.T.O.
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15. T B 8 7a § T FhEM 719 % AEHR 8 I WG AT g T R0 Al 3,
Tifeh 98 € 9199 b § TeIT & BIT | e IR 9 S °§ HH TS g T
O A 8 | 98 HR-R HHTR FEHN HI seh g1 sh! -1 el & |
39 ROl wqwﬁq%ﬁ%ﬂﬁwwa@waﬂhﬁﬂ%ﬁaﬁﬁﬁﬁ?w%9
(A) ®|°h Teh Ggh[l RUETdT Eqﬁ T T 7 |
(B) % RIS ! feufa =1 gloars=e ST 2 |
(C) o axqedl &1 3fua ITeH-JeH gHfTad Hiar |
(D) o fREM I RIS & =147 |

16. feu wu fuz =t eRau | fog 9 foman 9 aTen & ffoRaa & @ fore anfde

&Feh o ATl 3T7dT & ?
(A) STl (B) Tgatreh
(C) qdreh (D) =g

Fig: [[ElcIRad 397 FIT gieeaniaa qiemiaal & 1o/ 397 G116 & 7 W E |
‘b1 <t W’ rdferaeen & ffafaa & @ fopm & & o7avia st B 2
A)  aftes (B) Tedtae
©) g (D) =gl

17. 9 @ %A for mw € | 3 sAfiRed (A) 3R SR (R) @ | aHT el sl dfey
3R T faecd w1 ==[ hIfST |
WW(A):%[ﬁmﬁﬁqqﬁaﬂw%mm%ﬂﬁW@ﬁmﬁﬁi

|

HRT (R) : gﬁ Y ol o o (7T RomeR 3R o=y SrTal s SR 9l

f&rereu

(A) (A)aﬁUR)aﬁuﬁ%aﬁt(R) (A) h TRl I 8§ |
(B)  (A) 3R (R) ZH1 &l &, AT (R), (A) i Hel =@ 757 ¢ |
() (A) @&l 8, dfhd (R) Terd ¢ |

(D) (A) T &, Al (R) ¥&1 & |
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15.

16.

Note :

17.
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In one of the small villages, a farmer borrows money from the village
moneylender at a high monthly interest rate but is not able to repay it
back. Next, he borrows it from a bank at a lower interest rate. Gradually
he earns and pays back the loan to the moneylender and the bank.

Which of the following best describes the role of the bank in this credit
situation ?

(A) The bank acts as a cooperative lender.

(B) The bank facilitates a debt-trap situation.

(C)  The bank ensures a fair exchange of goods.
(D) The bank saves the farmer from debt-trap.

Look at the given picture. The work being done in the picture comes
under which one of the following economic sectors ?

(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary

The following question is for the Visually Impaired Candidates only,
in lieu of Q. No. 16.

‘Floriculture’ comes under which one of the following sectors of the

economy ?
(A) Primary (B) Secondary
(C) Tertiary (D) Quaternary

Two statements are given below. They are Assertion (A) and Reason (R).

Read both the statements and choose the correct option.

Assertion (A) : Rural poor families are still dependent on informal
sources of credit.

Reason (R) : For obtaining loan from banks, collateral and special
documents are required.

Options:

(A) Both (A) and (R) are true and (R) is the correct explanation of (A).

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(C) (A)1is true, but (R) is false.
(D) (A) is false, but (R) is true.




18. fmafafea § 9 wH-a1 Serestor 9 snfva § 2
(A) SIYR 3TEN I FGMT

(B) SR AU hl BT

(C) AR gRI g8 g% W Toamror st
(D) aEg3l W M, f0a e Ser

19. fa=fafaa 8 9 frg &9 6l vy o U § feeged gaffies 2 2

(A) gt
(B) Tgdtaeh
(C) qdreh
(D) <qIH

20. fSUu TU @i W ¥ RO % UG AAi Bl gHC AR FEl fawhed w1 TIA

IR |

I %

II. EEHR

III. |&hRl FHfat
IV. =i

forepeu -

(A)  Had 19 II
(B) had 1149 III
(C) had 19 III
(D) had 19 IV
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18. Which one of the following is included in ‘liberalization’ ? 1
(A) Promoting trade barriers
(B) Removing trade barriers
(C)  Controlling the other country through trade
(D) Increasing import, export duty on goods
19. Which one of the following sectors has the highest share in employment
in India ? 1
(A) Primary
(B)  Secondary
(C)  Tertiary
(D) Quaternary
20. Select the formal sources of credit from the given sources and choose the
correct option. 1
I. Bank
I1. Moneylender
III. Cooperatives
IV. Businessman
Options:
(A) OnlyIandII
(B)  Only II and III
(C) OnlyIand III
(D) OnlyIandIV
32/5/1-15 Page 15 of 27 P.T.O.




21.

22,

23.

24.

25.

26.

27.

28.

29.

Qis &
(stfer g3 w9e) (4x2=8)
gicigd] Ydred] 8 Y8 YR IU9HEEY hl SAMIeh dedeh & Ydig H el
feafa == oft 2 samen hifS | 2
(a) ‘@S IR AT 99T HEENG SgH § fed 8 17 39sn afga 39
I hl AR hifv | 2
AAAT

(b) “HEErE I # Wt fowme wen § @S 9w S @ 1”7 3ersr giga 3
I ki =T FifvT | 2
WA Gfaa § faehgiontur shl STTa9aehdT SR Tl shl TS ? TS <hIFT | 2

IYSToRT0T I WG A H YT U9 FaR IRRhl § foehtd T &I hileh d
@/l ? W& hifvu | 2

Qs T

(g3 w9 ) (5x3=15)

(a) Tfad 1T AGRGH H AiEarsdi i ik i TN Algd T

HifT | 3
AAAT

(b) Sl ST & GRH ARG &ieh HemsTi 3 Tdlehl 4 Tsgare & fo=m

! T8 TR HeTeM TR ? IR0 Higd SAT&A hi | 3
TR HfY W Sveiento o foredl fF wwmat 1 avfa Hif | 3
R § TSI gall o aHe fohedl e getfaan o1 farwersor shifsre | 3
UR <hl GeTcHeh MO FaeT <l fopeal i foiwanett &1 auMH hifvre | 3
I gHT 4 aroitadr o1 favg faem & fou et «=t s9 w2 2 Sew
gfga samE HifS | 3
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22.

23.

24.

25.

26.

27.

28.

29.

SECTION B

(Very Short Answer Type Questions) (4x2=8)

Why was the Indian subcontinent central to the flows of the trading
network before the sixteenth century ? Explain. 2

(a)  “Minerals occur in igneous and metamorphic rocks.” Explain the
statement with example. 2

OR

(b) “The ocean waters contain vast quantities of minerals.” Explain

the statement with example. 2

Why was the need for decentralisation recognized in the Indian
Constitution ? Explain. 2

How have the developments in information and communication

technology been the major factor to enable globalisation ? Explain. 2
SECTION C
(Short Answer Type Questions) (6x3=15)

(a) Explain the role of women in the Civil Disobedience Movement,
with examples. 3

OR

(b) How did the Indian folklore and symbols strengthen the idea of
nationalism during the twentieth century ? Explain with

examples. 3
Describe any three impacts of globalisation on Indian agriculture. 3
Analyse any three challenges faced by political parties in India. 3
Describe any three characteristics of the Indian federal system. 3

Why has the issue of sustainability become essential for development in
present times ? Explain with example. 3
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30.

31.

32.

33.

34.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

Qs 9
(I 3w weT) (4x5=20)
ATl TORIST o ThiohUl H SYOU WiceHT i skt w1 qeared
it | 5
AT
ST o TehIRLOT H ATl A ToeATeh Shi Y{HeRT h1 HoTeh ShifaIT | 5
“fafamior senm o & o i e Twe 9 8 17 39 eE %l AT
Sallgq | 5
AT
“HfY Td ITNT THGE b [k & |7 38 HAA hl ~AHTA 38U | 5
STEATA SR TS I HH Hd H ARRAT ohl Y[Heh! shl ISR Hfgd
ST iU | 5
AT
Alehd s fohE JohR Tsh 99 I 8 ? IST8L0N Higd I iU | 5
3t TTfaIfern o s Ua el & § 37a Tqs¢ shifau | 5
AT
aTfdfen Tifafafert & Tnfed wa SETSd & H T TI hifaT | 5
Qus &
(T ATETIE /| - SATTRE T9+T) (3x4=12)

feu Tu wa 1 ufew 3 3@ i few g WAl % IR AT

BUTE AT ATS

SFY TEeE fEaRhl T 1780 ¥ 777 ol A Ush WTWdligsh UiHehl ohl

gt & o, e gg i 3 ufoarfua forn, g fopelt & fow 3uersy &

STETRIh UEehT, St fopdlt & I9Td § 981 2 | I+t I8 Yhiehl 9d | 99 I
e SAAHAREE W " ANG, St st 3T off, SR 3§ I waEal W
AN ot | fEh & IR fammam sar o S gt 6 fosht @ 2 svagr ot
A o | Ak T & 98 YRA § SHRId IS 7S STRIRTIE | [ TaaTsit
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31.

32.

33.

34.

(a)

(b)

(a)

(b)

(a)

(b)

(a)

(b)

SECTION D

(Long Answer Type Questions) (4x5=20)

Evaluate the role of Giuseppe Mazzini in the unification of the
Italian Republic.

OR

Evaluate the role of Otto von Bismarck in the unification of
Germany.

“Manufacturing sector is considered the backbone of development
of the country.” Justify the statement.

OR

“Agriculture and Industry move hand in hand.” Justify the
statement.

Explain with examples the role of democracy in the reduction of
inequality and poverty.
OR

How is democracy a legitimate government ? Explain with
examples.

Explain the differences between public and private sector of
economic activities.

OR

Explain the differences between the organised and unorganised
sector of economic activities.

SECTION E

(Case-Based/Source-Based Questions) (3x4=12)

Read the given source and answer the questions that follow :

Print Comes to India

From 1780, James Augustus Hickey began to edit the Bengal Gazette,

a weekly magazine that described itself as ‘a commercial paper open to

all, but influenced by none’. So it was private English enterprise, proud of

its independence from colonial influence, that began English printing in

32/5/1-15
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V)

off BIAT o7 | 3HH IS B T Sd aRA gfee™ J fgaehl T ToheHT
oo, ofR T8 Wil ST-UT STEEN & YoM ol Acdlad Sl I& T
feam S shufaafses oo ) fa W gd g0l ¥ SHehl & W Teh | T3NEd] 9dl
% I % H3-HN THA-IEERN DU A | FO TegEarl Wt 30 TEER B
Y | U TE] H OUgAT o1 TS UHATET UF o Hisl @ TR 9e=E gl
YRS FI77eT 7572 |

(34.1) S¥g JMRH o=kl g guifed ufem ‘F7o7r 792 fopg wmeT ©

TRITRIG g3 ? 1

(34.2) SV 3TMTEeH Tgaehl T YoheHT FIT TohaT 71T 2 1

(34.3) 1780 % T o S Tohd @AW <kl TicHTd fRIT TR—T ? 3= oA
TiedTed fomam T 2 1+1=2

35. feuw w &g =1 ufew 3t 3ges 9 feu U ywat & I AN .
HHTAT hT TRET0T

A TR W Fafed qlieh & TEIE TR0 hl Jehleld 1968 T #o7e
3% U7 A | T 1974 H IHER 7 9 [&dh LT 397 2 |pT | 39
o @@ iTefiSit o g9 1 T SR TR @ segfa 1 B | 1987 § greecis IR
e gr dftes TR W FE9A S0 § JargR InTeH fohan T | 39 e |
‘Gaq divoie fasrE’ (Sustainable Development) 3T HehedT J&qd 3R
THTY TV i Fehlerd i | I8 RO 91 H §817 @7 9iasT (Our Common
Future)?ﬁ%ﬁw%wiﬁw%ﬁ@ Igﬂﬂﬁﬁﬁ@ﬁ'{ﬂ%ﬁﬁ
ATeF fel € SHU, Seia § 1992 7 ARG geeft sred g foram mm |

(35.1) Tad Ao faesm 1 319 Tyse i | 1
(35.2) TSie1-21" ol foh TSI TriieH © Tolieha Tera T 2 1
(35.3) TS o Tehmgl & qiomdt <Al e hif | 2x1=2
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India. Hickey published a lot of advertisements, including those that
related to the import and sale of slaves. But he also published a lot of
gossip about the Company’s senior officials in India. Enraged by this,
Governor-General Warren Hastings persecuted Hickey, and encouraged
the publication of officially sanctioned newspapers that could counter the
flow of information that damaged the image of the colonial government.
By the close of the eighteenth century, a number of newspapers and
journals appeared in print. There were Indians, too, who began to publish
Indian newspapers. The first to appear was the weekly Bengal Gazette,
brought out by Gangadhar Bhattacharya, who was close to Raja
Rammohan Roy.

(34.1) In which language was ‘Bengal Gazette’ edited by James Augustus
Hickey published ? 1

(34.2) Why was James Augustus Hickey persecuted ? 1

(34.3) Which newspapers were encouraged during the 1780s ? Why were
they encouraged ? 1+1=2

35. Read the given source and answer the questions that follow :
Conservation of Resources

At the international level, the Club of Rome advocated resource
conservation for the first time in a more systematic way in 1968.
Subsequently, in 1974, Gandhian philosophy was once again presented by
Schumacher in his book Small is Beautiful. The seminal contribution
with respect to resource conservation at the global level was made by the
Brundtland Commission Report, 1987. This report introduced the concept
of ‘Sustainable Development’ and advocated it as a means for resource
conservation, which was subsequently published in a book entitled Our
Common Future. Another significant contribution was made at the Earth
Summit at Rio de Janeiro, Brazil in 1992.

(35.1) Explain the meaning of sustainable development. 1
(35.2) In which international conference was ‘Agenda-21’ accepted ? 1
(35.3) Explain any two outcomes of the Summit. 2x1=2
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36. fqu wu gra &1 ufgu 3tk 3Tk = feu v o o I G
gt wiufa=n @ wor

Sohi o 3TeATaT AT & W Td KU1 T Ush 3T @l UEhil AHfaAl § |
TR TG o TCI 9 FHIEHT Sl FS &1 H G oh TolC Tha L @ |
3 YHR I TEhRl wiufaar dva §, S8 - R, S wd ofenfieh Aeed
SCATIG <hl TEhRI AHITAT | P FghR] FHI FMYL o ToGh T T1d H M
HA B | 3Eh 2300 TROM e B | U STUH TEW O THT AT Rl
g | 39 SMT ¢S Sl FOMYR A U, 39 TRl GHfd 4 S & a8 R0 I
foram 2 | 39 ISt o1 SEIHTA TG I el &F o [T foRAT ST g | I8 RO
I o &G sl sl gHU SR Y& fohaT ST Eehal 2 |

Uk TghI AU HiY ITRT GG, Tl qAT HY SATIR HH, AST! The,
T M SR 3T afya TR o @l & folu T o1 Ut g |

(36.1) ‘PN HEHR AHEAT U4 TG I KU TGH hHtd b [T 99 HhE

39S Il 3§ ? 1
(36.2) ‘FUH HEHRl AUGAT TIH TGl hl fohdl THR o FU YGH Hd
g ? 1
(36.3) U e wiufat wwior & & = e @ 2 2
wus o
(W SRS T9d) (2+3=5)

37. (a) TCU T wWa & TSHITde W@I-AFEA (I8 27 W), § & T 6l ‘A’ 3R
‘B o &9 H 3fhd fopam mm g | Ffaiga Sl hi a8/ 8 3%
UgTHT 3T 39k Tal A8 396 gHIg Ei<h 78 W@rst w fafgn .

A. 98 TIM S8l 1920 H AR TSGR HiUH 1 SRIEIHE BT T | 1

B. 9% T gl et § T I qIST o | 1
(b) WRA & H ToHifdes t@-aHfes § fafafes & o 5l @7 =t

ST Toml | RISy 3R 3 9™ TR : 3x1=3

i)  FANSAT — g FTEh hl T
(i) AHEY — YR S I

(ili) TSl — THE TH I

(iv) HHAHeThy — TS Ay o
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36. Read the given source and answer the questions that follow :
Loans from Cooperatives

Besides banks, the other major source of cheap credit in rural areas
are the cooperative societies (or cooperatives). Members of a cooperative
pool their resources for cooperation in certain areas. There are several
types of cooperatives possible such as farmers cooperatives, weavers
cooperatives, industrial workers cooperatives, etc. Krishak Cooperative
functions in a village not very far away from Sonpur. It has 2300 farmers
as members. It accepts deposits from its members. With these deposits as
collateral, the Cooperative has obtained a large loan from the bank.
These funds are used to provide loans to members. Once these loans are
repaid, another round of lending can take place.

Krishak Cooperative provides loans for the purchase of agricultural
implements, loans for cultivation and agricultural trade, fishery loans,
loans for construction of houses and for a variety of other expenses.

(36.1) How do ‘Krishak Cooperatives’ secure funds for providing loans to

their members ? 1
(36.2) What are the different types of loans that ‘Krishak Cooperatives’
offer to their members ? 1
(36.3) Why are such cooperatives desirable in the rural areas ? 2
SECTION F
(Map Skill-Based Question) (2+3=5)

37. (a) Two places ‘A’ and ‘B’ have been marked on the given political
outline map of India (on page 27). Identify them with the help of
the following information and write their correct names on the
lines drawn near them :

A. The place where the session of Indian National Congress
was held in 1920. 1
B. The place where Gandhiji broke the salt law. 1
(b)  On the same political outline map of India, locate and label any
three of the following with suitable symbols : 3x1=3
(i) Bailadila — Iron ore Mines

(ii))  Namrup — Thermal Power Plant
(iii) Kandla — Major Sea Port
(iv) Meenam Bakkam — International Airport
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Fig: [REfiiaa 397 @dci ghearfaa qhgmaar & o7 397 §&q7 37 & € T
&/

fe-g7 aier 7941 & I 1T | 5x1=5
(37.1) 39 Ts¥ &1 90 fafgu F&f 1927 0 9™ T g w1 AfGAsH
7T o1 |

(37.2) 3 TIM o1 A9 fARGU STgf et 5 77 i arer o |

(37.3) 39 U¥ o 9 faIRau &7 doAfean g 37k il @H f€9d & |
(37.4) Torm U= ® AMEY aTdE St a9 o g 2

(37.5) 38 TS ol A1 IRGC &l et T Ja- e 3 |

(37.6) 3T ST o1 A fARGU gl HmHeRpd TSI I U0 29d 7 |
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Note : The following questions are for the Visually Impaired Candidates
only, in lieu of . No. 37.

Attempt any five questions. 5x1=5

(37.1)

(37.2)
(37.3)
(37.4)
(37.5)

(37.6)

32/5/1-15

Name the state where the session of Indian National Congress
was held in 1927.

Name the place where Gandhiji broke the salt law.

Name the state where Bailadila iron ore mines are located.
In which state is Namrup Thermal Power Plant located ?
Name the state where Kandla sea port is located.

Name the state where Meenam Bakkam international airport is
located.
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